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2.5 Evaluation Process and Reform ( 40) 

2.5.1 Mechanism of Internal/External assessment is transparent and the grievance 
redressal system is time -bound and effiecient 
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DAV Institute of Engineering & Technology, Jalandhar 
Department: Information technology 

                                                                                                                              CAY: 2021-2022   
 
Class/ Semester: B.Tech(IT) - 7th Sem 
                        

                                             Data Warehousing & Mining 
Assignment No. 1 

 
Date of Issue: 01/09/2021                              Due date of Submission: 08/09/2021 
 

 
Note: Attempt all questions.                                 Max marks: 10 
Issued By: Mr. Gagan Kumar 
 
Question 
No. 

Question COs  
 

RBT 
Level 

Marks 

1 State why, for the integration of multiple heterogeneous information 
sources, many companies in industry prefer the update-driven approach 
(which constructs and uses data warehouses), rather than the query-driven 
approach (which applies wrappers and integrators). Describe situations 
where the query-driven approach is preferable to the update-driven 
approach.  

CO1 L2 2 

2 A data warehouse can be modelled by either a star schema or a snowflake 
schema. Briefly describe the similarities and the differences of the two 
models, and then analyse their advantages and disadvantages with regard 
to one another. Give your opinion of which might be more empirically 
useful and state the reasons behind your answer.  

CO1 L2 2 

3 Design a data warehouse for a regional weather bureau. The weather bureau 
has about 1000 probes, which are scattered throughout various land and 
ocean locations in the region to collect basic weather data, including air 
pressure, temperature, and precipitation at each hour. All data are sent to the 
central station, which has collected such data for more than 10 years. Your 
design should facilitate efficient querying and online analytical processing, 
and derive general weather patterns in multidimensional space.  

CO1 L2 2 

4 In data warehouse technology, a multiple dimensional view can be 
implemented by a relational database technique (ROLAP), by a 
multidimensional database technique (MOLAP), or by a hybrid database 
technique (HOLAP).  

(a)  Briefly describe each implementation technique.  

(b)  For each technique, explain how each of the following functions may 
be implemented: 
i. The generation of a data warehouse (including aggregation)  
ii.Roll-up 
iii. Drill-down  
iv. Incremental updating  
(c) Which implementation techniques do you prefer, and why?  

 

CO1 L6 4 

Course Outcomes (COs) 

Students will be able to 
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DAV Institute of Engineering & Technology, Jalandhar 
Department: Information technology 

                                                                                                                              CAY: 2021-2022   
 

CO 1 Understand the functionality of the various data mining and data warehousing component 

CO 2 Appreciate the strengths and limitations of various data mining and data warehousing models 

CO 3 Explain the analyzing techniques of various data 

CO 4 Describe different methodologies used in data mining and data ware housing 

CO 5 

Compare different approaches of data ware housing and data mining with various 

technologies. 
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DAV Institute of Engineering & Technology, Jalandhar 
Department: Business Management 

                                                                                                                              CAY: 2021-2022   
 
Class/ Semester: MBA -1st Sem 
                        

Subject with Code: Managerial Economics (MBA-102-18) 
Assignment No. 1 

 
Date of Issue: 18/10/2021                              Due date of Submission: 26/10/2021 
 

 
Note: Attempt all Questions                                        Max marks: 10 
Issued By: Dr. Megha Sharma 
 
Question 
No. 

Question COs  
 

RBT 
Level 

Marks 

1 Draw a graph to represent a natural monopoly and describe the 
circumstances that would permit natural monopoly to exist. 
Would it be wise for government to break up natural 
monopolies? Give some examples of natural monopolies. 

 

CO2, 

CO3 

L3 5 

2 Explain why the demand curve for a firm in perfect competition 
is horizontal. Illustrate with a graph 

CO3 L2 5 

 
 
Course Outcomes (COs) 

Students will be able to 

CO 1 Understand the roles of managers in firms.  

CO 2 Analyse the demand and supply conditions and assess the position of a company.  

CO 3 Design competition strategies, including costing, pricing, product differentiation, and 
market environment according to the natures of products and the structures of the 
markets.  

CO 4 Analyse real-world business problems with a systematic theoretical framework.  

CO5 Make optimal business decisions by integrating the concepts of economics, 
mathematics and statistics.  
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DAV Institute of Engineering & Technology, Jalandhar 
Department: Business Management 

                                                                                                                              CAY: 2020-2021  
 
Class/ Semester: MBA - 1st Sem 
                        

      Subject with Code: Performance and Compensation Management (MBA-936-18) 
Assignment No. 1 

 
Date of Issue: 25/02/2021                              Due date of Submission: 02/03/2021 
 

 
Note: Attempt all Questions                                        Max marks: 10 
Issued By: Dr. Reetu Sehgal 
 
Question 
No. 

Question COs  
 

RBT 
Level 

Marks 

1 Identify the various purposes of undertaking performance 
appraisal of employees. What techniques would you 
recommend appraising the performance of the employees? 

CO1,  L4 2.5 

2 *LYH� D� GHWDLOHG� GHVFULSWLRQ� RQ� WKH� FRQFHSW� RI� µSHUIRUPDQFH�
PDQDJHPHQW� DQG� HPSOR\HH� GHYHORSPHQW¶�� +LJKOLJKW� WKH�
characteristics and process of personal development planning. 

CO2 L5 2.5 

3 M/S ABC Company enjoyed very low turnover pre-Covid, but 
during the last two years it had to replace probably one-third of 
their workforce at their largest facility, about the same number 
from termination as voluntary. So, they had to work harder than 
ever to recruit. 
Their most-tenured employees, who were the most highly 
trained, had to pick up the slack, working record amounts of 
overtime and less-predictable production schedules. 
In their upcoming negotiations with the United Auto Workers, 
they were trying to emphasize short-term bonuses rather than 
wage increases that get baked into their costs. But they 
continued health insurance through the pandemic as well as 
their tuition-reimbursement program, and many employees 
were thankful for that. 
But new employees were not as interested in benefits but rather 
in higher cash wages.  
Should they be looking at hybrid model of offering higher 
compensation to people who want those and move those 
amounts from the benefits side to the wages side? Give your 
opinion as per the case. 
 

CO1 L6 5 

 
 

��
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Department: Business Management 

                                                                                                                              CAY: 2020-2021  
 
Course Outcomes (COs) 

Students will be able to 

CO 1 Increase the awareness of the process and principles of performance Management /  
appraisal.  

CO 2 Identify the negative aspects of appraisal systems and consider how these might be 
overcome.  

CO 3 Discuss performance with regard to pay awards, and whether these should, or should 
not be automatically related to each other.  

CO 4 Demonstrate a familiarity with the appeal process relating specifically to the 
performance review  

CO5 Illustrate different ways to strengthen the pay-for-performance link and also learn the 
concepts of Payment and employee benefits issues for contingent workers.  

CO6 Develop appropriate reward and compensation policies.  
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DAV Institute of Engineering & Technology, Jalandhar 
Department: Business Management 

                                                                                                                              CAY: 2021-2022  
 
Class/ Semester: MBA - 3rd Sem 
                        

Subject with Code: Marketing Research (MBA-302-18) 

Assignment No. 1 
 

Date of Issue: 25/10/2021                              Due date of Submission: 01/11/2021 
 

 
Note: Attempt all Questions                                        Max marks: 10 
Issued By: Dr. Reetu Sehgal 
 
Question 
No. 

Question COs  
 

RBT 
Level 

Marks 

1 ³(PSLULFDO� UHVHDUFK� LQ� ,QGLD� LQ� SDUWLFXODU� FUHDWHV� VR� PDQ\�
SUREOHPV� IRU� WKH� UHVHDUFKHUV´�� 6WDWH� WKH� SUREOHPV� WKDW� are 
usually faced by such researchers 

CO1,  L5 2.5 

2 Prepare a questionnaire on 5-point Likert scale, to analyze the 
customer satisfaction level of ALC Bank. 
 

CO3 L3 2.5 

3 
Explain the survey method of data collection  

CO1 L2 2.5 

 A study aimed to determining the reasons for success or failure 
of small business. A sample of 10 entrepreneurs was asked to 
indicate the perceived areas of strength of their organizations. 
Their responses identified 6 variables rated on five-point scale. 
Prepare a questionnaire at the given scale: 
 
 Organizational 

Strength 
Code 

Very Strong 5 
Strong 4 
Neutral 3 
Weak 2 
Very Weak 1 

CO3 L6 2.5 

 
 
Course Outcomes (COs) 

Students will be able to 
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CO 1 Increase the awareness of the process and principles of performance Management /  
appraisal.  

CO 2 Identify the negative aspects of appraisal systems and consider how these might be 
overcome.  

CO 3 Discuss performance with regard to pay awards, and whether these should, or should 
not be automatically related to each other.  

CO 4 Demonstrate a familiarity with the appeal process relating specifically to the 
performance review  

CO5 Illustrate different ways to strengthen the pay-for-performance link and also learn the 
concepts of Payment and employee benefits issues for contingent workers.  

CO6 Develop appropriate reward and compensation policies.  
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DAV Institute of Engineering & Technology, Jalandhar 
Department: Applied Science 

                                                                                                                              CAY: 2019-2020  
 
Class/ Semester: B.Tech(CSE)- 2nd Sem 
                        

Subject with Code: Semiconductor Physics (BTPH-104-18) 

Assignment No. 1 
 

Date of Issue: 05/02/2020                              Due date of Submission: 12/02/2020 
 

 
Note:Attempt all Questions                                        Max marks: 10 
Issued By: Dr. Payal Sharma 
 
Question 
No. 

Question COs  
 

RBT 
Level 

Marks 

1 What is the significance of E-K diagram for electronic Engineers? CO1 L2 1 

2 Plot forward V-I characteristics of Schottky diode, ohmic, p n junction 

diode?  
CO1 L3 1 

3 
Analyse the n

+ 
and p

+ 
type semiconductors and give their importance 

CO1 L4 1 

4 
Define ambipolar mobility and ambipolar transport. 

CO1 L1 1 

5 
Show the variation of E.F and potential in depletion region of unbiased 
semiconductor. 

CO1 L2 1 

6 
Summarize the effect of junction capacitance for semiconductor with its 
significance. 

CO1 L5 1 

7 
What is wave particle duality? 

CO1 L1 1 

8 Give the importance of Schrodinger wave equation in Quantum Mechanics  
 

CO1 L2 1 

9 How will you justify that effective mass of electron is negative in valence 
band?  
 

CO1 L4 1 

10 In valence band the curve of E with k (In E-K diagram) is flatter than that 
in conduction band? Justify.  
 

CO1 L4 1 
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                                                                                                                              CAY: 2019-2020  
 
 
Course Outcomes (COs) 

Students will be able to 

CO 1 
Understand and explain the fundamental principles and properties of electronic 
materials and semiconductors 

 

CO 2 
Understand and describe the interaction of light with semiconductors in terms of fermi 
golden rule. 

 

CO 3 
Understand and describe the impact of solid-state device capabilities and limitations on 
electronic circuit performance. 

 

CO 4 
Understand the design, fabrication, and characterization techniques of engineered 
semiconductor materials. 

 

CO5 
Develop the basic tools with which they can study and test the newly developed 
devices and other semiconductor applications.  
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DAV INSTITUTE OF ENGINEERING AND TECHNOLOGY, JALANDHAR 
Department of Information Technology 

QUIZ 
Subject: Semiconductor Physics (BTPH-104-18) 

Class: B. Tech. (IT) 2nd Semester 
Date: 25/03/2020 

Conducted By: Dr. Shivani Vij 
 

Note:  
x Quiz Marks 15 
x Each Question Carries 1 Mark 

 
 
4���$�VHPLFRQGXFWRU�LV�IRUPHG�E\�«««�ERQGV� 
1. Covalent 
2. Electrovalent 
3. Co-ordinate 
4. None of the above 
4���$�VHPLFRQGXFWRU�KDV�««««�WHPSHUDWXUH�FRHIILFLHQW�RI�UHVLVWDQFH� 
1. Positive 
2. Zero 
3. Negative 
4. None of the above 

Q3. The most FRPPRQO\�XVHG�VHPLFRQGXFWRU�LV�«««�� 
1. Germanium 
2. Silicon 
3. Carbon 
4. Sulphur 
4���$�VHPLFRQGXFWRU�KDV�JHQHUDOO\�««««««�YDOHQFH�HOHFWURQV� 
1. 2 
2. 3 
3. 6 
4. 4 
4���7KH�UHVLVWLYLW\�RI�SXUH�JHUPDQLXP�XQGHU�VWDQGDUG�FRQGLWLRQV�LV�DERXW�«««� 
1. 6 x 104 ȍ�FP 
2. 60 ȍ�FP 
3. 3 x 106 ȍ�FP 
4. 6 x 10-4 ȍ�FP 
4���7KH�UHVLVWLYLW\�RI�D�SXUH�VLOLFRQ�LV�DERXW�««««« 
1. ����ȍ�FP 
2. �����ȍ�FP 
3. 3 x 105 ȍ�P 
4. 6 x 10-8 ȍ�FP 
4���:KHQ�D�SXUH�VHPLFRQGXFWRU�LV�KHDWHG��LWV�UHVLVWDQFH�««««�� 
1. Goes up 
2. Goes down 
3. Remains the same 
4. &DQ¶W�VD\ 
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Q8. The strength of a semiconductor crysWDO�FRPHV�IURP�««�� 
1. Forces between nuclei 
2. Forces between protons 
3. Electron-pair bonds 
4. None of the above 
4���:KHQ�D�SHQWDYDOHQW�LPSXULW\�LV�DGGHG�WR�D�SXUH�VHPLFRQGXFWRU��LW�EHFRPHV�««« 
1. An insulator 
2. An intrinsic semiconductor 
3. p-type semiconductor 
4. n-type semiconductor 
4����$GGLWLRQ�RI�SHQWDYDOHQW�LPSXULW\�WR�D�VHPLFRQGXFWRU�FUHDWHV�PDQ\�««�� 
1. Free electrons 
2. Holes 
3. Valence electrons 
4. Bound electrons 
4����$�SHQWDYDOHQW�LPSXULW\�KDV�«««��9DOHQFH�HOHFWURQV 
1. 3 
2. 5 
3. 4 
4. 6 

Q12. An n-type VHPLFRQGXFWRU�LV�««« 
1. Positively charged 
2. Negatively charged 
3. Electrically neutral 
4. None of the above 
4����$�WULYDOHQW�LPSXULW\�KDV�«���YDOHQFH�HOHFWURQV 
1. 4 
2. 5 
3. 6 
4. 3 
4����$GGLWLRQ�RI�WULYDOHQW�LPSXULW\�WR�D�VHPLFRQGXFWRU�FUHDWHV�PDQ\�««�� 
1. Holes 
2. Free electrons 
3. Valence electrons 
4. Bound electrons 
4����$�KROH�LQ�D�VHPLFRQGXFWRU�LV�GHILQHG�DV�«««««� 
1. A free electron 
2. The incomplete part of an electron pair bond 
3. A free proton 
4. A free neutron 
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DAV INSTITUTE OF ENGINEERING AND TECHNOLOGY, JALANDHAR 
Department of Information Technology 

QUIZ 
Subject: Semiconductor Physics (BTPH-104-18) 

Class: B. Tech. (IT) 2nd Semester 
Date: 15/04/2020 

Given By: Dr. Shivani Vij 
 

Note:  
x Quiz Marks 15 
x Each Question Carries 1 Mark 

 
Q1. A hole and HOHFWURQ�LQ�FORVH�SUR[LPLW\�ZRXOG�WHQG�WR�«««� 
1. Repel each other 
2. Attract each other 
3. Have no effect on each other 
4. None of the above 
 
4���,Q�D�VHPLFRQGXFWRU��FXUUHQW�FRQGXFWLRQ�LV�GXH�WR�««�� 
1. Only holes 
2. Only free electrons 
3. Holes and free electrons 
4. None of the above 
 
Q3. The random motion of holes and free electrons due to thermal agitation is called 
«««� 
1. Diffusion 
2. Pressure 
3. Ionization 
4. None of the above 
 
Q4. A forward biased pn junction diode has a resistance of the order of 
1. ȍ 
2. Nȍ 
3. 0ȍ 
4. None of the above 
 
4���7KH�EDWWHU\�FRQQHFWLRQV�UHTXLUHG�WR�IRUZDUG�ELDV�D�SQ�MXQFWLRQ�DUH�«« 
1. +ve terminal to p and ±ve terminal to n 
2. -ve terminal to p and +ve terminal to n 
3. -ve terminal to p and ±ve terminal to n 
4. None of the above 
 
4���7KH�EDUULHU�YROWDJH�DW�D�SQ�MXQFWLRQ�IRU�JHUPDQLXP�LV�DERXW�««« 
1. 5 V 
2. 3 V 
3. Zero 
4. 3 V 

��



 
4���,Q�WKH�GHSOHWLRQ�UHJLRQ�RI�D�SQ�MXQFWLRQ��WKHUH�LV�D�VKRUWDJH�RI�««�� 
1. Acceptor ions 
2. Holes and electrons 
3. Donor ions 
4. None of the above 
 
4���$�UHYHUVH�ELDV�SQ�MXQFWLRQ�KDV�«««« 
1. Very narrow depletion layer 
2. Almost no current 
3. Very low resistance 
4. Large current flow 
 
4���$�SQ�MXQFWLRQ�DFWV�DV�D�«««� 
1. Controlled switch 
2. Bidirectional switch 
3. Unidirectional switch 
4. None of the above 
 
Q10. A reverse biased pn junction has resistance of the order of 
1. ȍ 
2. Nȍ 
3. 0ȍ 
4. None of the above 
 
4����7KH�OHDNDJH�FXUUHQW�DFURVV�D�SQ�MXQFWLRQ�LV�GXH�WR�««««�� 
1. Minority carriers 
2. Majority carriers 
3. Junction capacitance 
4. None of the above 
 
Q12. When the temperature of an extrinsic semiconductor is increased, the pronounced 
HIIHFW�LV�RQ«« 
1. Junction capacitance 
2. Minority carriers 
3. Majority carriers 
4. None of the above 
 
Q13. With forward bias to a pn junction , the width of GHSOHWLRQ�OD\HU�««« 
1. Decreases 
2. Increases 
3. Remains the same 
4. None of the above 
 
Q14.  The leakage current in a pn junction is of the order of 
1. Aa 
2. mA 
3. kA 
4. µA 
 

��



4����,Q�DQ�LQWULQVLF�VHPLFRQGXFWRU��WKH�QXPEHU�RI�IUHH�HOHFWURQV�««« 
1 Equals the number of holes 
2. Is greater than the number of holes 
3. Is less than the number of holes 
4. None of the above 
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DAV Institute of Engineering & Technology, Jalandhar 
Department of Applied Sciences 

                                                                                                                              CAY: 2018-2019   
 

Class/ Semester: EE/02 
Subject with code: Chemistry-I, BTCH101-18 
Tutorial Sheet No. 5 
Date of Issue: Gp A: 06-02-2018   Due date of Submission: Gp A: 06-02-2018 
  Gp B: 07-02-2018     Gp B: 07-02-2018 
 
 
     Max marks: 10 
 
QuestNo. Question &2¶V� 

RBT 
Level 

1 Difference between Absorption and Emission spectroscopy  CO3, 2 

2 Why in case of molecule band spectrum is obtained in contrast to atoms where 
line spectrum is obtained ? 

CO3,2 

3 Which of the following transitions are allowed transitions :- 

D���Sĺ�I��E���Vĺ�S�F���Sĺ�V�G���Vĺ�G 

CO3,3 

4 Define chromophores and Auxochromes  giving examples of each. CO3,3 

5 Define isobestic point CO3,3 

6 State Frank-condon principle? CO3,2 

7 $UUDQJH�WKH�IROORZLQJ�LQ�WKH�LQFUHDVLQJ�RUGHU�RI�Ȝmax :- 

i) H2C=CH-CH2-CH=CH-CH3          ii) H2C=CH-CH=CH-CH=CH2     iii) 
H2C=CH-CH=CH-CH2-CH3 

CO3,4 

8 How electronic spectroscopy can be used to confirm the purity of 
given sample? 

CO3,4 

9 Calculate number of fundamental modes of vibration i.e vibrational CO3,3 
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degree of freedom  a) CO       b) N2     c) ±OH        d) ±CN 

10 Calculate the force constant  for H-F molecule if the frequency of 
vibration required to excite the molecule from v=o to v=1 is 4050 
cm-1. 

CO3,4 

11 If the force constant  for CO molecule is 1760 N/m, Calculate the 
fundamental vibrational frequency in cm 

CO2, 3 

12 Predict the possible electronic transitions for ;- 

a)  HCHO       b) C6H5Cl     c) C2H2      d) C2H5Br  

CO3, 4 
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DAV INSTITUTE OF ENGINEERING AND TECHNOLOGY, JALANDHAR 

DEPARTMENT OF APPLIED SCIENCES 
Program B.Tech. Semester 1 
Subject Code BTHU-101-18 Subject Title English 
MST No. 1 Course Coordinator Dr. Anand Bajaj 
Max. Marks 24 Time Duration 1 hour 30 Minutes 
Date of MST 06 /09/2018 Roll No  
Note: Attempt all questions  
Quest. 

No Question COs,  
RBT level Marks 

1 The train _____ (left, had left) before I _____ (reached/ had reached) 
the station. (Use the correct form of the verb) CO1, L2 2 

2 Why are you damaging the garden?  
(Transform into passive Voice) CO1, L2 2 

3 

1) Make nouns from  the following words using suitable 
suffixes: 

a. Common 
b. Except 
c. Destroy 
d. Attach 

2) Correct the following sentences: 
a. The news was broadcasted late in the evening 
b. Unless you do not work hard, you will not succeed. 

CO1, L2 4 

4 Write a paragraph of about 150 words RQ�³Drug Addiction amongst 
\RXWK´. Do not use negative prefixes 

CO5, L2, 
L6 4 

5 :ULWH� DQ� HVVD\� LQ� DERXW�����ZRUGV�RQ� ³Brain drain is better than 
brain in the drain´�� 

CO5, L2, 
L5 4 

6 

Write an essay in about 500 words on ³,QGLDQ� VRFLHW\� DW� FURVV�
URDGV´ 

Or 
Read the passage and answer the question that follow  
 
1 In spite of all the honours that were heaped upon him, Pasteur, as has been said, 
remained simple at heart. Perhaps the imagery of his boyhood days, when he drew 
the familiar scenes of his birthplace, and nurtured the longing to be a great artist, 
never wholly left him. In truth he did become a great artist, though after his sixteenth 
year he abandoned the brush forever. Like every artist of worth, he put his whole 
soul and energy into his work, and it was this very energy that in the end wore him 
out. For to him, each sufferer was something more than just a case that was to be 
cured. He looked upon the fight against hydrophobia as a battle, and he was 
absorbed in his determination to win. The sight of injured children, particularly, 
moved him to an indescribable extent. He suffered with his patients, and yet he 
would not deny himself a share in that suffering. His greatest grief was when sheer 
physical exhaustion made him give up his active work. He retired to the estate at 
Villeneuve Etang, where he had his kennels for the study of rabies, and there he 
SDVVHG�KLV�ODVW�VXPPHU��DV�KLV�JUHDW�ELRJUDSKHU��9DOOHU\5DGRW��KDV�VDLG��³SUDFWLFLQJ�
WKH�*RVSHO�YLUWXHV�´ 

CO5, CO2, 
L2, L4 8 
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2 ³+H�UHYHUHG�WKH�IDLWK�RI�KLV�IDWKHUV�´�VD\V�WKH�VDPH�ZULWHU��³DQG�ZLVKHG�ZLWKRXW�
oVWHQWDWLRQ�RU�P\VWHU\�WR�UHFHLYH�LWV�DLG�GXULQJ�KLV�ODVW�SHULRG�´ 
 
3 The attitude of this man to the science he had done so much to perfect can be best 
summed up in a sentence that he is reputed once to have uttered, concerning the 
materialism of many of his contemporaries in similar branches of learning to his 
RZQ��³7KH�PRUH�,�FRQWHPSODWH�WKH�P\VWHULHV�RI�1DWXUH��WKH�PRUH�P\�IDLWK�EHFRPHV�
OLNH�WKDW�RI�D�SHDVDQW�´ 
 
4 But even then in retirement he loved to see his former pupils, and it was then he 
would reiWHUDWH�KLV�OLIH�SULQFLSOHV��³:RUN�´��KH�ZRXOG�VD\��³QHYHU�FHDVH�WR�ZRUN�´�6R�
well had he kept this precept that he began rapidly to sink from exhaustion.  
 
5 Finally on September 27, 1895, when someone leant over his bed to offer him a 
cup of milk, he said VDGO\��³,�FDQQRW�´��DQG�ZLWK�D�ORRN�RI�SHUIHFW�UHVLJQDWLRQ�DQG�
peace, seemed to fall asleep. He never again opened his eyes to the cares and 
sufferings of a world, which he had done so much to relieve and to conquer. He was 
within three months of his seventy-third birthday. 
6 Thus passed, as simply as a child, the man whom the French people were to vote at 
a plebiscite as the greatest man that France had ever produced. Napoleon, who has 
always been considered the idol of France, was placed fifth. 
 
7 No greDWHU�WULEXWH�FRXOG�KDYH�EHHQ�SDLG�WR�/RXLV�3DVWHXU��WKH�WDQQHU¶V�VRQ��WKH�
scientist, the man of peace, the patient worker for humanity. 
 
1.1 Answer the following questions : 
a. Even accolades and honours did not change the simple man that Pasteur was. 
Why?( 2 mark) 
b. How did Pasteur view those who suffered from diseases?   (1 mark) 
c. How did France, the country of his birth, honour this great scientist? (2 marks) 
 
1.2 Find the words from the passage which mean the same as: 3 marks 
a. To give up (para 1) 
b. People belonging to the same period (para 3) 
c. Vote by the people of the country to decide a matter of national importance (para 
6) 

Course Outcomes (COs) 
Students will be able to 

1 Become independent users of English Language.  

2 Acquire basic proficiency in reading & listening, comprehension, writing and speaking skills.  

3 Understand spoken and written English language, particularly the language of their chosen 
technical field.  

4 Converse fluently.  

5 Produce clear and coherent texts.  
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DAV INSTITUTE OF ENGINEERING AND TECHNOLOGY, JALANDHAR 

DEPARTMENT OF APPLIED SCIENCES 

Program B.Tech. (CE, IT) 
 Semester 01 

Subject Code BTCH101-18 Subject Title Chemistry-I (Theory) 
MST No. 3 (Make up test) Course Coordinator Dr. Bhupinder Singh   
Max. Marks 24 Time Duration 1 hour 30 Minutes 
Date of MST 16-12-2019 (Shift II) Roll No  

Note: Attempt all questions  

Quest. No Question COs,  
RBT level Marks 

1 Radius of a cation is always smaller and that of an anion is 
larger than that of the parent atom. Explain. CO4, L2 2 

2 Define the critical phenomenon for a real gas. CO1, L3 2 

3 
Define ionisation energy and electron affinity. Why noble 
gases have zero electron affinity and halogens have the highest  
electron affinity? 

CO4, L4 4 

4 Explain the principle of HSAB and the stability of certain 
compounds/complexes on the basis of this principle. CO1, L3 4 

5 Explain the mechanism of Friedel-Craft alkylation and 
nitration of benzene. CO6, L4 4 

6 

Derive the equation of state of real gases i.e. van der Waals 
equation and on the basis of this  equation  explain how gases 
deviate from ideality under different conditions of T & P. 

 OR 
Explain the synthesis and use of a drug molecule with  
chemical reaction involved.  

 
 
 CO1, L4 

 
 
 

CO6, L4 
 

8 
 
 
 
8 

Course Outcomes (COs): Students will be able to 
1 Analyse microscopic chemistry in terms of atomic and molecular orbitals and intermolecular forces. 

2 Acquire basic knowledge of chemistry to appreciate its applications in diverse fields. 

3 Distinguish the ranges of the electromagnetic spectrum used for exciting different molecular energy 
levels in various spectroscopic techniques. 

4 Rationalise periodic properties such as ionization potential, electron affinity, oxidation      
states and electronegativity. 

5 Rationalise bulk properties and processes using thermodynamic considerations. 

6 Understand the major chemical reactions that are used in the synthesis of molecules. 
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DAV INSTITUTE OF ENGINEERING AND TECHNOLOGY, JALANDHAR 

DEPARTMENT OF APPLIED SCIENCES 

Program B. Tech. Semester 2nd  
Subject Code BTAM-202-18 Subject Title Mathematics 
MST No. 1 Course Coordinator Dr. S. K. Sachdeva 
Max. Marks 24 Time Duration 1 hour 30 Minutes 
Date of MST 27th )HE¶�������,�� Roll No  

Note: Attempt all questions  

Quest. No Question COs,  
RBT level Marks 

1 
State necessary and sufficient condition for an ordinary differential 
equation of order one to be exact. CO1, L1 2 

2 Solve:  CO3, L2 2 

3 Solve  . CO1, L3 4 

4 
Design the solution of diff equation 

 CO1, L4 4 

5 Evaluate by method of variation of parameter  CO1, L5 4 

6 

Evaluate the solution for the equation 

 

OR 

Evaluate the solution for equation  
        

CO1 
L5 

 
 
 
 

CO2, L5 

8 

Course Outcomes (COs) 
Students will be able to 

1 To solve various ordinary differential equations by direct and alternative methods. 

2 
To solve equations in series and various partial differential equations by direct and indirect 
(alternative) methods. 

3 
To demonstrate knowledge of finding roots, interpolating values, finding differentials and 
integrals by various numerical methods.  

4 
To demonstrate knowledge of finding solutions of ordinary, linear and partial differential 
equations by various numerical methods. 
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Roll No.                         Total No. of Pages : 02 
Total No. of Questions : 18  

B.Tech. (Electrical Engg./ECE) (2018 & Onwards)   (Sem.–2) 
B.Tech. (Automation & Robotics)/  (Civil Engg.)/ (Computer Science 

& Engineering)/ (Electrical & Electronics Engineering)/  
(Electronics & Electrical Engineering)/ (Mechanical Engineering) 

MATHEMATICS-II 
Subject Code : BTAM-202-18 

M.Code : 76255 
Time : 3 Hrs.                                                                      Max. Marks : 60 

INSTRUCTIONS TO CANDIDATES : 
 1. SECTION-A is COMPULSORY consisting of TEN questions carrying TWO marks 

each. 
 2. SECTION - B & C have FOUR questions each. 
 3. Attempt any FIVE questions from SECTION B & C carrying EIGHT marks each.  
 4. Select atleast TWO questions from SECTION - B & C. 

  

SECTION-A 

 Answer briefly : 

 1) Is the differential equation 2 33 ( ln ) 0§ ·� � �  ¨ ¸
© ¹

y
x y dx x x dy

x
 exact? 

 2) Find the general solution of the Clairaut’s equation y = px + p3. 

 3) Find the Wronskian of the equation (D2 + 1) y = cosec x. 

 4) Solve the first order non-linear PDE p3 – q3 = 0. 

 5) Give the classification criteria of 2nd order partial differential equation. 

 6) Define the order of convergence of iterative methods. 

 7) Write Gauss forward formula for central difference interpolation. 

 8) Write Simpson’s 
1
3

 rule of numerical integration. 

 9) Define the operators ' and P. 

 10) Using Euler’s method, evaluate y (0.1) correct to 3 decimals, yc – y2 = 0, y (0) = 1. 
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SECTION-B 

 11) Solve the differential equation 24 2 4 � �
dy

y x x
dx

. 

 12) Solve the differential equation (D2 + 2D + 1) y = 2e3x. 

 13) Solve the 3 2 0
w w

�  
w w
u u
x y

 using separation of variables with u (x, 0) = 4e–x. 

 14) Find f (0.07), using Newton’s forward difference formula, given that f (0.05) = 0.0500,  
f (0.10) = 0.0999, f (0.15) = 0.1987, f (0.20) = 0.2571. 

  

SECTION-C 

 15) Given the initial value problem , �t
du

e t
dt

 u (1) = 2. Estimate u (1.2) using Runge Kutta 

method of 4th order upto 3 decimals. (Take h = 0.1). 

 16) a) Solve the Cauchy-Euler equation 
2

2
2 3 3 0� �  

d y dy
x x y

dxdx
 with y (1) = 0, yc (1) = – 2. 

  b) Solve the partial differential equation 
2 2 2

2 25 6 �w w w
� �  

w ww w
x yz z z
e

x yx y
. 

 17) a) Find 3 25  using Newton Raphson method. 

  b) Evaluate 
1

0

1
1�³ dx
x

, using Trapezoidal rule by taking 7 subintervals. 

 18) a) Using Taylor’s series, find value of y at x = 0.1 upto 3 decimals from 
2 1, (0) 1 �  

dy
x y y

dx
. 

  b) Using finite difference method, solve ycc + y + 1 = 0, y (0) = y (1) = 0 (Take h = 1/3). 

 

NOTE : Disclosure of Identity by writing Mobile No. or Making of passing request on any 
page of Answer Sheet will lead to UMC against the Student. 
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Ref. No. : DAVIEI/ tS -thf EYqT/"89

In order to address the grievance:of the

Grievance Redressal Committee of the

Dated ,,9,#J.9k1..'.3

Office Order

students related to examination, an Examination
following officials is hereby constituted.

Associate Professor (ECE)
COE, DAVIET
Asstt. Prof. (ME\
Asstt. Prof. (CE)'

I . Dr. Jagjit Singh Malhotra
2. Dr. Devinder PriYadarshi
3. Mr. Pankaj Sadana
4. Mr. Manpreet'S. Bedi

The purpose of the pommittee is to review and resolve the grievances of the students

pertaining to the examination and related activities.

Dr' Manoj Kumar
Principal

Copy to:
1. CoE, DAVIET.
Z. All HoD(s): For Information and circulation amongst the students.

3. The above mentioned committee members'
4. All staff members of the Examination Section.

5. All Notice Boards (lncluding Hostels)
6. Website Coordinator: For uploading on the institute website.
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